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74. = F x ol gt oA A A2

@ 2x2-5=2(x>-1) @ (x=-3)(x+1)=x*-4
@) (x-5)(x+5) =2B-2 @ 3(:>+1) =3x(x+1)
® x?=(x-4)2

®(x=5)(x+5) =25 — x?
2x2 -50 =0

whabA] o] 2pg Aot




75. O|AF A4 (3x-4)2-2(x-3)% = 0= x*> S A7 79 ax®>+bx+c =0
of = bl ©, ac- b o] S Latolt

(Bx—4)2-2(x-3)2=0

9x% —24x+16-2x> +12x—-18 =0
x> -12x-2=0

a=T7b=-12, c=-2
Lac—b=-14+12=-2




D x¥*+2x+1=x2-1

@) (x-1)(x+2) = 4x
® 2x-5=0

@ x*+3=(x-1)*

@ x-x24+2x=0

@x?-3x-2=0
@ 3 AP 4]




OIAFTAA 3(x+1)(x-2) = -2 —x+2 Zax’ +bx—-4=0 9 EZ

o, &4 a, b 9 gh= F-5tof=t

5

3x4+1)(x-2) = —x*—x+2 oA
3t —x-2)=-x2—x+2
So4x?-2x-8=0
2x2—x-4=0

et a =2, b = -1°|H.




78. x(ax+1)—3=-2x2—bx+c 7} o|AFAAL o, a Fho] 2 & gl=
A& Fotoieh(H, a, b, ¢ = F0lHh)

Ch "
=

>
> "E -2

x(ax+1) =3 = =2x% = bx + ¢ A
(a+2)x>+ (1+b)x=3-c=0
a+2%#0°[oJoF 3B g -2




79. t= F xofl Wt olatA A o] ofd A2?

1
@ 5)(72:0

@ x-1)(x+1)=0

® (x+3)?2=2x
241
3 =

@ -3
@(x+2)(x—2)=x2—|—x—|—1

Ox2-4=x>+x+1
Sx+ 5 =0(gA A4




@x2 =-2x-1

@® 2x? =2(x? - 3)?

@ (x-3)?

=x2-4

@ x(x-4)

(3-x)?

® x-4=5x

=0

SFH X2 +2x+ 1

&

oz of




81.

A ax-3y=-3°1 & (a+1, a*) & AL A 4 AHEHZ 2]

&= M, a o gh= Fstof=th

ax-3y=-3° 4 (a+1, &) & AHE=Z
ala+1)-3a®>=-3

a’+a-3a>+3=0
—2a24+a+3=0,242-a-3=0
(@+1)(2a-3)=0

Ta=-1%

rr

a =

[\CI VY]

ax—3y=-3, y= gx—i—l olm g
a>0 <4 o, Al 4 AFEHS AR =t

.6125




82.

2z
x+y>z,x+z=2y A FFx, y, 27 =+ =+ =
Xy yz o ozx

2

2 nrxs}h Y re 75 .
E‘_—.EU'H,(XJFU( )—’]%/\ Fof 2t
» E.

> A 1

B

x+z=2N x-2y4+2z=0---O@
%+£+l:§+§_z ]/\-]

Xy W X X y z

x2 +y2 42722 +2xy—3yz-3zx =0
¥+ (2y-3)x+(-2)(y—-22) =0
(x+y-2)(x+y—-27)=0

dAY x+y>zO0lBE2 x+y#7

T x+y-2z=0---©

Q, O= AHstq €4

3y—-3z=0
LYy=z
ol @ofl dste] EH x-y=0
LX=Yy
A x =y =z0|22
y¥-y-2  £2-z-2
(x+DE-2) (+1)(E-2)
2—z7-2
T 2-z-2

=1




83. oIATHA ¢ —6r—n =09 A P57 HEE S T A
A% n o A5E Fotedel,

x=3% V9+n o|B=E |7} 57t E]7] YA =
9+ n= (FAAFT) oAl n 2 F 29 AFolBR
9+n =25, 36, 49, ---,100

n =16, 27, 40, 55, 72, 91 2] 67jo]ct.




A2 F A p, g7t PP +ap+b=0.¢>tag+b =02 5L
4

o, o] ZAPFH A x% — (2¢ — a)x —ac + b = 0] 0] /|5 Fotoi=t
> &
D> EE: 2

M2 e T A5 p g7t p* +ap+b=0.4>+ag+b=0=2
HrEstE 2
¥ tax+b=02A=2 08 F L& 71X
w2t D =a?-4b> 0 ~--®

- (2c —a)x —ac+b =0 A
D= (a-2c)?>-b(b-ac) = a®+ 4c* - 4b
I8 @ofA a2 —4b >0 ©]al 4¢2 > 0 o] B2
a’?+4c?—4b >0
wetA] x2 - (2c—a)x—ac+b =0 °A D> 0 0|E2 A& T}
T 42 7HL




